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General Instructions :

1. The question paper consists of 2 sections - Section A (having 27 questions) and

Section B (having 12 questions). You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choices have been provided in all

questions of 5 marks category and 3 questions of 3 marks category.

All questions of Section A and all questions of Section B are to be attempted separately.

Questions 1 to 4 in Section A and Questions 28 and 29 in Section B are multiple

choice type questions and carry one mark each.

Question 5 to 10 in Section A and 30 to 32 in Section B are very short answer type

questions and carry one mark each.

7. Questions 11 to 16 in Section A and Questions 33 to 35 in Section B are short answer

type questions and carry 2 marks each.

Questions 17 to 23 in Section A and Questions 36 and 37 in Section B are also short

answer type questions and carry 3 marks each.

9. Questions 24 to 27 in Section A and Questions 38 and 39 in Section B are long
answer type questions and carry 5 marks each.

A :

. WIAHA TS J TS 7 - @ue ‘31’ (fFed 27 w9 ¥) iR we ‘9’ (fed 12 w99 €)1 31aehi
A & wE ® I w2

2. gt e erfrard €

3. IS WHieh foehed &l fean e @ qunfa 5 ik 1 it & weft weA qen 3 eiek w1 Soft &
3 g9l § atfafie fased yeM fopu w2

4. @s ‘' & qft g IR wE ‘9’ & gt uv STem-Sten S g

5. @e 't HUH 1 W4 @ ‘T H UE 28 3R 29 Tg-dhfeqs Y B A T W TIh
®1 1 3 B

6. e HUH 59 10 qu1 @ ‘9’ W YH 30 W 32 A oTEwcds U € TS WS ‘1]
3 T 2

7. @' W WHE 11 9 16 991 @ ‘9’ H WE 33 W 35 IalcHS Y9 € TS T 9§ e 2
Rl T 2l

8. e ‘I W WH 17 923 A Ge ‘9 HUH 36 N 37 f TIcHS T B TS 0 W yAh
3 el w1 2

9. W' HYH 24927 deN@e ‘9 HY.H. 38 31X 39 e ITAHF U9 2 TS A0 U YAk 5 3feh!
*1 2l

VIII-SCIENCE & TECHNOLOGY (1)

wnN

o gk

o




Section - 'A' (@g-‘31")

1. The maximum displacement of a vibrating body, on either side [of its mean
position], is known as its :
(@ frequency (b) loudness
(c) amplitude (d) pitch

07 & SRE fRd 9% gR (STUT TR e W) 99 @t e Sifiehan g
FEAR B2

(a) ST (b)  geeAd
(c) 3IMH (d) dRA
2.  Which one of the following ray diagrams is correct?
Y \Q
() Y (b)
24 Y
© @ [/
Y
frefafed § 9 =9 @ Y@t 98 2?2
Y \Q

(a) Y (b)

{
v 7

(©) (d)
Y

Alternative question for visually challenged Students

A ray of light, incident normally on a transparent medium, will
(@) pass through the medium undeviated

(b) pass through the medium after getting deviated to the right
(c) pass through the medium after getting deviated to the left
(d) bounce back at an angle to the surface

gfedm 3El & fau defeas wo=

fordt UReRt aerm & eAfyers W g ofufad = Wi fE
(@) To1 ARt o_cl 39 HisAd 9§ TR S|

(b) STUAT AR TE TR I L HIEAH & [

(c) U ARl 918 3R F_a < HIEAH | |

(d) fodr o | wrafda g S|
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10.

11.

Which one of the following contains non-biodegradable material?

(@) Paper cup (b) Cotton stuffed toy

(c) Wooden door (d) plastic bucket 1
frefafad § 9 &iF @ a5 9 erfatmanie el aen S 82

(@) YW HT HT (b) ®s ¥ W faa

(c) RSl 1 LA (d) TIREH hi alee

Out of the following, the substance that can catche fire easily is :

(@) aglass rod (b) an iron nail

(c) astone (d) a piece of coal 1
Fr= fu o yerel | 9@ o uged gie S e 9@ S wehe Wl ® -

(@) I I B (b) TR HT HiA

(c) T (d) HIFTA F1 IHS]

Give the (approximate) distance of alpha centuari from earth. 1
‘Ut S’ ®Y gedt W () g s

Pigmented iris is responsible for which characteristic of the human eye? 1
efE i@ &1 ®F G faeioa o1 wRor e 8?2

Name any two non-optical aids that are useful for visually challenged persons. YVoti2=1

3t @ & FeEal & fau swHa fRu S M oS $iE S ST
(AF-3Tafeshel) SUHION & T FarEd|

State any one use of acrylon.

Afshell 1 i Teh IYAM adrzd|

Give any two examples of natural fibres.

Ihfaeh W & i I 3@ |

Fill in the blanks :

Domestic sewage promotes the growth of and which
use up lots of oxygen dissolved in water and reduce its amount in it. Votie=1

Te] T T SEd TH T H oo, 1 S U7 LT & S AT

T Sl SIS +1 SEHI i SHb! T 52 <4 &

Y2+12=1

(@ Why are sounds more likely to produce echoes in open fields?
(b) Which characteristic of a vibrating body determines its
(i) loudness (ii)  pitch of the sound 1+%2

produced by it? +e=2
(a) G HIEl | STES & TS 8H 1 G9e1 e F#i et 82
(b) & i (i) Feerd (ii) dRe
hftd a%g &1 frg fagimar w felt et 22
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12. Differentiate between myopia and hypermetropia on the basis of the change
in the

(i) focal length of the eye lens.  (ii) size of the eyeball. 1+1=2
‘frehe gfie S’ (Wit oI ‘R gfte ' (BRwEdftan) & o= frefafad o

B arel TRadd & TR W 3T TSIt

(i) hishdl or=ls ga (ii) @ & el (3AEaieT) T SRR

13. Observe the picture carefully and answer the following questions :

in need is indeed
lens
Case 0] Case (ii)
(@) Name the type of lens being used in case (i) and case (ii)
(b)  Which of the two is a reading glass? Yot+lf+
(c) How is the object positioned with respect to a reading glass? Yot+1/=2

IR fEu MU fol e 9@ < SR oy

(a) fearfa (i) @en feerfa (i) & ®iH-2 ¥ o9 99 gC 2?2
(b) T § ‘difen o’ ford wed €2

(c) =g i AfeT o & e Y W ol 872

Alternative question for visually challenged Students
(@ Which the type of lens can be used as a reading glass?

(b) How is the object positioned with respect to a reading glass? 1+%%+
(c) State the nature of the image formed by a reading glass. Yo=2
gfedw faenfdat & fow Jwfeusn wow

(@) fFE TR & <" & T Yeq ot e (dfen o) ® w9 § ygw
feRa ST Hehell &7

(b) o& 1 GfeT o9 & oA S W@l S 8?2

(c) Ufen o ¥ o aren yidfers fhd YRR 1 Bl 22

14. (a) A small piece of sodium is observed to catch fire suddenly when it is
kept in air for sometime. Give reason for this observation.
(b) State the nature of combustion observed in the above case. 1VoH/5=2

(a) WIS &1 ZHSI Bl W 3=HS W 3 THE ofdl &1 THHT HRUN Fd|
(b) ¥€ T&T 1 i H YHN 87
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15.

16.

17.

18.

19.

State / Suggest any two measures that must be taken to check pollution
by sewage. 1+1=2
HIE < U / e T fE T R € ol gH0T ekt ST ehdl B

Give reasons for the following :
(@) Melamine is used for making fabric which resists fire.
(b) PVC can be recycled. 1+1=2

SO §qd
(a) AU 1 THHA M Yfaleed o6 &l 999 | 2idl ¢
(b) “dieftet’ g: =fera feman ST Fehar 21

Describe an activity that tells us that a material medium is necessary for
propagation of sound. 3

T o g gued T oty o geRor & folw wieam @y eTevdehdl gidl 2

(@) Name the following :
(i)  The hottest planet :
(if)  An application of geostationary satellites

(iti) Largest asteroid : Lotllt

(iv) A periodic comet : Votlo +
(b) What is a meteor? 1=3
(a) A9 @ :

T g .
(i) S TR & reereerenrrenrnens
.
_frordig .
9 hl Teh D ereereerreereerans
(ii)

(iii) G ST ITE (TRITE) ¢ ovvrvvvrrerrrrrens

(iv) Teh TIE=d hTel SBIHS/GHDBT ¢ corverrrerreenneens

(b) ST fhE Ted &7

(@) Why does the pole star appear to remain fixed at one place?

(b) State one advantage of this special feature of pole star.

(¢c) Name and draw a constellation in which the pole star lies on its 1+1+1%
handle tip. +%%=3

(a) ¥d IR Tk & S8 feorq i wdiiaq eran 872

(b) 8 701 1 TH IR T

(c) ST TNHUSH 1 H AR 3THT fo 590 fS9a Tk & R g ax
feera 21
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Alternative question for visually challenged students in lieu of 19(c)
giedm faenfdal & fou defeus w9 19(c) & @™ W

(c) What are 'pointers'?

(c) ‘U’ e +ed &7

20. (a) What do we understand by 'Blind Spot' of the human eye?
(b) Which part of eye enables us to see colours and how? 1+% +
(c) State the term used for the 'Continuence in the sensation of vision'. 1+%2=3

(a) ‘TciEs T’ &1 941 w22
(b) 3@ %1 % @ feem &6 a1 fa@m 7 R w97
(c) ‘wfafars 1 3 R d% @ ¥ o4 &' & fd 3 oI wgaa ford ot &2

OR ( 319dT)

(@) What do you understand by the ‘range of vision'?
(b) Suggest any four precautions to be taken to ensure proper functioningl+%v2+12
of the human eye. +/>+H/5=3

(a) ‘sfe & wa' (3§ % fafsq) @ @ e 22
(b) %8 IR HEeTaT aard f5a i@l ®1 Tt <1 ° T@Hel 1 S Gehdl ¢ difh
o 3l T hHH HL Th|

21. (a) State the terms used for the following :
(i)  The line that joins the centres of curvature of the two surfaces of

a lens.
(if)  The special point of a lens through which a ray of light passes
undeviated.
(b) Define focal length of a lens. 1+1+1=3

(a) TAfafEa sl & fou 3faa o= ford

(i) @ W S | %) IH Hagl & w=l w2

(i) o9 &1 o8 fauom fog forma oo famm ant et frever ot 21
(b) ‘el Tag ()’ i wRefea

22. State the three conditions required for combustion. 1+1+1=3

<eq & fau efevas dF aitfeufasi s

OR ( 379dT)

(@ No one should be allowed to take any burning material within the
premises of ammunition depots. Why?
(b) State any two ill effects of incomplete combustion. 1+2=3

(a) STHA-9T6E & e | Sordt =isl of S 5991 21 =12

(b) 1ol Tg= & I ISHNOM |
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23. Suggest any three ways by which you can save water. 1+1+1=3

T Tt fas g1 I i S=d 1 ST gt Bl

24.

25.

(@)

(b)
(c)
(a)

(b)
(c)

(@)

()

(a)
(b)
(c)

(@)
(b)

(©)

(d)

(a)
(b)

(c)

(d)

Name the parts of human ear which are responsible for the following
functions :

(i)  Collection of sound vibrations from the air.

(i)  Amplification of sound vibrations.

(iti)  Transferring the signals of vibrations (as electric signals) to the

brain.
State the audible range of frequencies of sound for the human ear? 1+1+1
State the difference between noise and music. +1+1=5
e %01 & 3 e Sad = -

(i) = § G et w1 R P IHS FW €

(ii) a1 & % 1 M 98 B

(iii) et =t @ 1 (foga @ & w9 ) ufess 76 wged 2
Oe Ul @ fIY /e Wi ST 1 W R 82

I SR Hiig o =R =argd|

OR ( 3T9ar)
What do you understand by noise pollution?
State two ill effects of noise pollution on human health. 1+1+1

Suggest two measures to limit noise pollution.

‘IR 9gEer W 3 o wHEd §7

IR YSUY & HME WReF R EH a6 & gE Faqid|

IR YEUT 1 GifHd WH & & U™ S|

State the basic cause of refraction of light.

Is the refractive index of a medium an indicator of its optical density?
How?

A coin, not visible before in a cup, (when seen from some distance)
becomes visible, after some water is poured into the cup. Give reason

for this observation.
During dispersion of white light through a glass prism, it is observed1+v45+15

that red colour bends minimum towards its base. Why? +2+1=5
U 1 q&A HNeh o1 Bial &7

F1 fhdt T 1 STYedIR 3% YRR S % HG 1 ff gEh ©

H9?

%9 | vgl goT fagent Sl (/8 [ ¥ @1 W) T8t K@ 7 @I &, I STerd

& fee @ 5w 21 =i

e vord wehen, Ted o TeRA R fasfaa e €, @ o g e R W

T HH Fhdl T 2

+1+1=5
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OR ( 379aT)

(@) Complete the ray diagram :

Fy :\
L

O

(b) State the characteristics of the image formed in the above case.
(c) How does the position, or nature, of image formed by the above lens

depend on the distance of the object from the lens? 1+2+1
(d) Mention any two uses of lenses in our day to day life. /=5

(a) U T Tt g0 F R

A - \‘
1

(@)

(b) 39H o1 o gfdafars st fagivand s
(c) a& & Ul o= =+ feafa o1 ypfa, g =t 30 o9 9 T W 34 fasf
LA B2

(d) TR <fe Sftom o ofdl & i & ITIR/eny S|

Alternative question for visually challenged Students in lieu of Q. 25 [2™ option]

(a) State three differences between an image formed by a convex lens and

an image formed by a concave lens. It is given that the object is placed

beyond their respective focal points.
(b) Mention any two uses of lenses in our day to day life. 1+1+1+5%
(c) Under what condition, does a convex lens form a virtual image? +15+1=5

(a) 3T TS 3Tedal o g &7 arell gfdfars & 9 i sard, fezn o @ f
A oGl W o oY % hiRd W R W@ T R
(b) TUR <fe Sfom § ofdi & i < IYAF/eny Sdid)
(c) Torm feufd o ws 391 o9 ws yfta ufdfams sHm@m?
26. (a) Define : Flame.

(b) With the help of an activity show the presence of wax vapours in the
inner most zone of candle flame.
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(c) Write the name of the zone of flame in which
(i)  partial combustion of wax-vapours takes place. 1+3+
(i)  complete combustion of wax vapours takes place. Y2+34=5

(a) ‘saren’ & aRefid &1
(b) T foman grn fe@nd fop soren & e fiqdy &5 o WH 1 oy R S 22
(c) el & 39 &3 1 9 dan SHqE WH i 99 w1

(i) oTqoi T = 2

(i) Yof <& e 2

Alternative question for visually challenged Students in lieu of Q. 26(b)

gieg faenfdal & fau uom 26(b) & &M W Aehfcues w9

Name the three zones of flame and arrange them in increasing order of
their temperature. 1+1+1

SAE & diF fafv= &5 39 9gd a9HH % STTER W HANER fad|

OR ( 319dT)

a) Define : Calorific value.

b) Write its SI Unit.

c) State any three characteristics of a good fuel.

d) How is release of excess carbondioxide from combustion of fuel harmful 1 +15+
to our environment? 3+v2=5

(a) ‘SE °F' &1 ARG H

(b) SHHT HEF A

(c) TH =3 e ! o9 fawvand samd|

(d) 38 & T 9§ o arcll Hidd SRAGERE YHhfd & fau fea ms

e &7
27. (@) Why are clothes made from synthetic fibres uncomfortable in rainy
season?
(b) State any two advantages of synthetic fibres.
(c) What is PET? State its one use. 1+2+1%%
(d) Which fibre is also termed as regenerated fibre? +5=5

(a) Hyaifta 3o @ o9 %ue s & i o srgfaustes a8 2
(b) GyaIfod W & T U1 S

(c) T d T 27 IHH TH ITAN Fam|

(d) T $HM W o1 ‘Gees B’ w8l S 2?2
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OR ( 3194T)

(@) How are plastics classified on the basis of arrangement of their

monomers?
(b) State any two characteristics of synthetic plastics.
(c) How are polythene bags or wrappers harmful to stray animals? 2+2+1=5

(a) TSI 1 HaE & MYUR W WLHh & YhR Fard|
(b) FHH whfes & & o1 Fan|
(c) dreief & o o1 foaw sTem Sierl & foiu fRe @@ Bifieis 27

Section - 'B' (@s-9")

28. Which of the following is a Kharif crop?

(@) Wheat (b) Gram

(c) Barley (d) Paddy 1
frefafad § 9 @0% wEa S 9 27

(a) T (b) =T

(c) Srsia (d) o

29. Acne and pimples are common among adolescents during puberty. This is
due to increased activity of the
(@) sebaceous glands (b) gonads
(c) parathyroid glands (d) pineal gland 1

frafafead § 9 &9 9 TR #1 s1fue fRamliedl & SR deaey & aRH

TFR IS R feherd 22

(a) @ Ud demieE (b) S TferE
(c) TUuemetEe o d) tdifere deft
30. Name the vitamin that enables the human body to absorb calcium. 1

39 faerfia o1 9 ot S TR § $hoAR™EE & 9k § HEg Hidl 2

31. Give two examples of organisms that undergo budding for reproduction. Y2+%2=1
oo w4 fafy g/ 9 & 9t & sal & 37 1)

32. What are crumbs in the field? 1
Sdl ¥ 2o I B 27
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33. State two conditions that are necessary for reproductive pattern for external
fertilization of frogs to succeed. 1+1=2

Hesh &1 S fafer wt awaa g < ifar affeafaar samd, fse ar™ g
ghel & Tehdl T

34. Draw a neat labelled diagram of the human female reproductive system. 2
<X Ud AMifhd fos g AFE § OET ST <9I

Alternative question for visually challenged Students in lieu of Q. 34

gfedm faenfd= & faT uva 34 & WM W Jwfcus qoa

Name the four main organs of the human female reproductive system. 1ox4=2
A A & ¥R Hewql 3T ST A9 S|

35. State two advantages of transplantation of seedlings. 1+1=2
Al & AU (TFATRYH) & & SYAN S|

36. (a) Differentiate between manures and fertilisers.
(b) Why is overuse of fertilisers not advisable? 2+1=3

(a) @ 3R IF | T T H|
(b) Seiteh 1 fereh seHel i afsia 82

37. (&) How does excessive supply of water affect a plant?

(
(b) Suggest a method by which crops can be protected against pests.
(c) Why is weeding done in the fields? 1+1+1=3

(a) O¥ ol S&Id 9 ST O fam ST O 39 W R Y9 8l 27
(b) HEA ! Tgeh! W T4 1 Th I <am|
(c) TUAER 9 T 4 1 St 872

OR ( 379aT)

(@) Name any two farm machines that help in threshing.

. i i ?
(b) How is storage of perishable food items done~ Lotlpi]

(c) What do you understand by the term 'hybridization'? +1=3
(a) < WAl & M Sad 579 i =7 S 2

(b) o<l T B el WTel Ie1edf T HUSROT i feman ST 22

(c) ‘EEsieEsyF’ & w1 A9 22
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38. (a) Define menstruation. Why does it occur?
(b) ‘It is the father who is responsible for determining the sex of a child.
Justify the statement. 3+2=5

(a) ‘SEqed’ 1 YRAMT Y| $HF S HT HROT THA
(c) ‘a=a/gafa & feim &1 fReRo faar w fasik &zar 271 38 %o &6 gfie

OR ( 379aT)

(@) ‘'Physical activity or exercise is a daily requirement just like food'.
State three reasons in support of this statement.
(b) What are the two main aims of "Say 'No' to Drugs" campaign? 3+2=5

(a) ‘=a@M YRR & fow 1fd smavas T1' 3@ woF &1 gfe 3q 9 SR Sard)|
(b) ‘wefiet ganedi &1 fiy’ y=R & < e s auiA Hifs

39. (@) How is reproduction in mammals different from reproduction in
amphibians? Give any two points of difference.
(b) What is a hermaphrodite animal? Give one example.
(c) How many days does it take for a hen's egg to hatch?

(d) Why does a child has some characteristics of father and some 2+1+Y56+
characteristics of mother? ¥2+1=5
(a) o9 1 S fafer, ot § T orel Ssfel @ fhd gR f9=1 82 (1 faerand
o)

(b) ‘zmRIERe (f5fer) fFe wed €2 T a3
(c) gt & @12 ¥ 9= = e ® e f& &1 99 oman @2
(d) =4 ¥ A IR o I *1 Hz-%9 famand =i et 22

OR ( 379aT)

(a) Differentiate between an embryo and a foetus.
(b) Enlist three changes that take place during metamorphosis of a
tadpole of frog. 2+3=5

(a) oTafid wifvrret & fig SR 9o o 91 o=R 2?2
(b) =UA & FHERI & XA §H A A IR H1 Fui A
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